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B (AB:A)

& = "8 EREERE EREXE EHIEEE ERBFEXE
AREER(FB) E ABEK EAS NEEH EAS EEE EAE EEE EAS EAE
O 20 £ FE 170 45587 170 32,790 - - 12,797
EORL 21 F OE 155 44,198 155 29,921 - - 14,277
oK 2 £ E 139 39,981 139 26,333 - - 13,648
T O 23 &£ FE 127 40,054 127 24,094 - - 15,960
T R 24 &£ E 113 40,588 113 22,530 - - 18,058
ri= 1 1,220 1 203 1,017
Bi% 9 3,987 9 1,869 2,118
wh b 37 10,577 37 7,239 3,338
&t 13 4,364 13 2,576 1,788
= R 7 2,398 7 1,437 961
7= 39 10,677 39 7,721 2,956
N 6 6,300 6 1,278 5,022
(F) 1 1,066 1 208 858
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